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QUESTION 1

A project team is using the Scrum process template process lifecycle that comes as a default process template with
Rational Team Concert (RTC). The team is expanded to include a solution architect to the team, and the development
process needs to be changed so that the architect can review the requirements prior to the commencement of sprint
cycles. What should be done to achieve this using RTC and CLM? (Choose two.) 

A. modify the Scrum process template by extending the work item lifecycle to include a new "State" for architecture
review 

B. modify the Scrum process template by adding a new "Work Area Category" to cover the steps done by the architect 

C. configure Rational Software Architect Design Manager to initiate a design review at the start of each sprint 

D. modify the Scrum process template by adding a new "Role" for architects 

E. modify the Scrum process template by the adding a new "Reviewer Type" to cover the reviews performed by the
architect 

Correct Answer: AD 

 

QUESTION 2

In RQM version 3, what can have execution records? (Choose two.) 

A. Test Plan 

B. Test Case 

C. Test Suite 

D. Test Script 

Correct Answer: BC 

 

QUESTION 3

CLM requires that which two LDAP groups be created? (Choose two.) 

A. JazzDBUsers 

B. JazzAdmins 

C. JazzUsers 

D. JazzBuilds 

E. JazzServers 

Correct Answer: BC 
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QUESTION 4

What are the five ALM imperatives? 

A. Lifecycle Traceability, Mean Time to Failure, In-context Collaboration, Development Intelligence, Continuous Process
Improvement 

B. In-context Collaboration, Working Software, Real-time Planning, Lifecycle Traceability, Continuous Process
Improvement 

C. Real-time Planning, Lifecycle Traceability, In-context Collaboration, Development Intelligence, Continuous Process
Improvement 

D. Continuous Process Improvement, Secure by Design, Real-time Planning, Lifecycle Traceability, Development
Intelligence 

Correct Answer: C 

 

QUESTION 5

Which ALM imperative improves a team\\'s ability to connect with each other, to respond to changing events, and to
improve project predictability? 

A. Real-time Planning 

B. Lifecycle Traceability 

C. In-context Collaboration 

D. Development Intelligence 

Correct Answer: C 
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